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09/04/14 wtzaigrt56867_35.ppp_defaut−10d−15

300 s: Mdev= 0.50184E−12 Tdev= 87 ps
600 s: Mdev= 0.26539E−12 Tdev= 92 ps
1200 s: Mdev= 0.16711E−12 Tdev= 116 ps
2400 s: Mdev= 0.11341E−12 Tdev= 157 ps
4800 s: Mdev= 0.81215E−13 Tdev= 225 ps
9600 s: Mdev= 0.55479E−13 Tdev= 307 ps
19200 s: Mdev= 0.40066E−13 Tdev= 444 ps
38400 s: Mdev= 0.29839E−13 Tdev= 662 ps
76800 s: Mdev= 0.19795E−13 Tdev= 878 ps
153600 s: Mdev= 0.13582E−13 Tdev= 1204 ps
307200 s: Mdev= 0.95597E−14 Tdev= 1696 ps
614400 s: Mdev= 0.67420E−14 Tdev= 2392 ps
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